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THE OPEN UNIVERSITY OF SRI LANKA
CERTIFICATE IN INDUSTRIAL STUDIES
FINAL EXAMINATION - 2011/2012
TTI2634 - APPAREL TECHNOLOGY
DURATION - THREE HOURS
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Answer Question 1, which is compulsory and additional five (}5) questions.

Question 1 carries twenty —five (25) marks and Questions 2 to 8 carry fifteen (15) marks

- each.

1. {a)
(&)
(c)

(d)
(e)
®
(g)
(1)

@

(b)

(b)
(c)

List out the measurements required to draft a skirt block. (02 marks)
Define the term “Seam”according to British Standard. (03 marks)

According to the shape of the machine bed we can classify sewing machines into

five groups. What are they? ) (03 marks)
State four purposes of using interlinings in garments. (02 marks)
State five factors which affect proper line balancing,. (03 marks)
How do you calculate the balancing loss after balancing a line? (03 marks)

State four advantages of using enzyme washing over the stone washing. (02 marks)

" State the difference between under-pressing and the final-pressing. (02 marks)

Briefly explain the importance of packing, {02 marks)
The total management functions can be divided into five major categories. State

them. {03 marks)

State six classes of stitches according to British Standard. (03 marks)
Briefly explain the features and applications of the type of stitches in each class.

(12 marks)

Describe the functions of the presser foot. (04 marks)
State different types of presser feet available for different functions. (03 marks)

Explain the main features of two types of them. (08 marks)



. (@) What do you understand by the feeding mechanisms of a sewing machine?

(05 marks)

(b) What are the advantages and disadvantages of using drop feed mechanism?
| (05 marks)
(c}) Compare the needle feeding mechanism with the unison feeding mechanism.
(05 marks)
. (8 Whatis “Marker Eficiency”? : ‘ (04 marks)
(b) State the equipments that we need to produce a marker in miniature. (04 marks)

(c) Explain why computerized marker making method is more suitable for the garment
industry. 7 (07 marks)

. (a) Explain the importance of lay planing, (05 marks)

(b) The following contract is to be processed by the cutting room.
Sizes 8 10 12 14 16
Quantity 225 150 300 75 150

The maximum allowed depth of the lay is 75 plies. Maximum of 4 sizes can be included
in one marker. Determine the economical lay plan. (10 marks)

. (a) Define the following terms.

e Twist in sewing thread (04 marks)
e Tex count (03 marks)
» Metric count (03 marks)

{b) What are the resultant count and the ticket number of 2 spun synthetic sewing thread
made up of two plies of 40Nm? (05 marks)
. (a) What is meant by “Communication™? (05 marks)

(b) Distinguish between vertical, horizontal and lateral communication in a business
organization. (05 marks)

(¢} List out organizational features of inefficient communication. (05 marks)
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